@verride
public int hashCode(} {

L

int hash = 5; hash: 185402171

hash = 29 * hash + (this.symbol !'= null ? this.symbol.hashCode() : @); symbol: "EUR"

hash = 29 * hash + (this.exchange != null ? this.exchange.hashCode() : @); exchange: "Exchange{exchangeName=IDEALPRO}"
hash = 29 % hash + (this.primaryExchange '= null ? this.primaryExchange.hashCode() : @); primaryExchange: null

hash = 29 % hash + (this.currency != null ? this.currency.hashCode() : @); currency: "Usp”

hash = 29 % hash + (this.decimalFormat != null ? this.decimalFormat.hashCode{) : @); decimalFormat: DecimalFormat@li24
hash = 29 % hash + (this.minimumTickSize != null ? this.minimumTickSize.hashCode() : @); minimumTickSize:

hash = 29 % hash + (this.contractMultiplier != null ? this.contractMultiplier.hashCode() : @);

¥ (I decimalFormat = {DecimalFormat@1304}
I biglntegerMultiplier = null
i bigDecimalMultiplier = null

) digitList = {DigitList@1311}"0"
i positivePrefix = ™
I positiveSuffix =
i negativePrefix
negativeSuffix
i posPrefixPattern =
i posSuffixPattern =
it negPrefixPattern =
I negSuffixPattern

£ multiplier = 1

i groupingSize = 0

I decimalSeparatorAlwaysShown = false

i’ parseBigDecimal = false

trisCurrencyFormat = false
» (i) symbols = {DecimalFormatSymbols@1319}

i useExponentialNotation = false

I positivePrefixFieldPositions = null

i positiveSuffixFieldPositions = null

I negativePrefixFieldPositions = null

i negativeSuffixFieldPositions = null

' minExponentDigits = 0

T maximumintegerDigits = 2147483647

' minimumintegerDigits = 2

' maximumFractionDigits = 0

I minimumFractionDigits = 0
k(I roundingMode = {RoundingMode@1320} "HALF_EVEN"

i isFastPath = false

I fastPathCheckMeeded = true
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max|ntegerDigits = 40

minintegerDigits = 1
axFractionDigits =
\FractionDigits =4

' NumberFormat.maximumlintegerDigits = 309

i NumberFormat.minimumintegerDigits = 2

I NumberFormat.maximumFractionDigits = 0

T NumberFormat.minimumFractionDigits = 0

I NumberFormat.serialVersionOnStream = 1
k(B minimumTickSize = {BigDecimal@1305} "0.0001"

contractMultiplier: null






